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ECONOMICS
. Pgller-ﬂ (B) : Economy of Rajasthan
Time Allowed : Three Hours Maximum marks : 100
| Part-A (\FT—31)
1. Explain and solve the following :
frefiRad & el Td B P —
(i) - Secondary data. IFRIRRELED
(i) [x"dx | X7 1 FABA | e
(iitl) Correlation. ge—gYg

@(iv) Fisher's ideal index number. IR &1 ST EPID
v) If mode and mean of the distibution are 24.and 25 respectively find

the median.
Ife e o1 agad aur A PR 24 Al 25 & O APl WM
el ~
) Find 2 ofe? - €? Y RN
(vi) Find defe \ eiﬁl@mﬂfﬁﬁdxﬁﬁl
(vii) Homogenous function. I el
(viii) Formula of Rank Correlation. Hife Je—aa= BT FCA
(ix) Range. - =R
. (x) Mean deviation. X fageq

_ Part-B (AF-9)
2. () Q=10 and Q=20 find Quartile deviation and its coefficient.
gfa' Q=10 T Q;=20 31 agdie fager qen SHeT JoNd S

Aol |
(i) Expand (y-1)* by binomial expansion method.
&1 g e A ¥ far cainul
(i) Prove thal Fisher's index number is ideal.
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R &1 Yaoie sy &, Rig Aifvw |

-1 6 -1 6
(iv) IfA=[4 3] findA-f.trf%:A=(4 3] a1 A s DR |

(v) Write the two regression equaton : Xon Y and Y op X.
< TN o1 fiRad) :XonYandYonX.0<‘

Part-C (AFF—¥)
UNIT-I (5®15-1)
. dy | _
3. @ Find o of the following -
dy
= o1 = s HIicR-
dx .
x3
® , @) %y +wi=25
: x”+1
(b) Intergrate the following -
F=feRas o1 aoaes HINR —
g | x+3
. [ .
® [ x"log xdx (ii) Ix+5

‘ Or/3=ar |
4. (@) :Solve the following equations’by Carmer's rule -
' FfaRes il & SRR X g HIRE -
X+y+2z =0
xX=-y+z=2
2x +y—z=1
{ 12\ 2)
®). IfA= l 2.1 ZJ then prove A? - 4A-51 = 0.
2 2 1

(1 2 2)

uﬁyq:tZ 1 Ja‘rﬁaa‘ﬂmm 4A-5T=0.
2 2 1

UNIT-II (§F13—1I)
5. (@ ‘Calculate the Arithmetic mean and standard dev1at10n and its
coefficient form the following series.

ﬁwﬁmm#wmwawmﬁatﬂammwm
BRI
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. -Marks No. of Students

\

(31P) (forenfefa <& <)
Less than 10 10
Less than 20 25
Less than 30 50
Less than 40 75
Less than 50 ' 85
Less than 60 95
Less than 70 100

(b) Find the geometric mean of 40, 80 and 20.
40, 80 AT 20 1 UK Arey Frapiferd |
Or/3=yd1

Do you find any correlation between are and mtelhoence inythe
following data -

< mmﬁmw@rﬁmamﬁﬁ&ﬁ%ﬁaﬂﬁém—iﬁwm
Eadl
—> Agein Years
Marks) 18 19 20 21 22
20-25 3 2
5

15-20 4 s -

10-15 - - 7 10 -

5-10 - - - 3 2

0-5 - - - "~ 3 1
UNIT-II(g5rE—100) '

Calculate Fisher's Index number and test for factor reversal test and

time reversal test-

AR BT AT GBID S DI T T ST IV T T
SHTRI] TR I —

Base Year (SR a¢)

Ttem Price Expenditure
(a%9) (Hr1a) ()

A 5 25

B 1 10

C 4 16

D 2 40

Current Year (ﬂlﬁL‘d‘f)

Item Price Expenditure
(a9 (i) (=)

A 10 60

B 2 24

C 8 40

.
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8.

D 5 75

Or/3rgat
Expalin the main characteristi¢s'of Population Census 2001.

ST 2001 & =0 fRARNEN 9y |
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